
SAP ABAP table RESCISMSU2OBJ_X {Distribution of Master SU to Subobjects}

RESCISMSU2OBJ_X

SNKSLMSU [CHAR (4)]

SCKEYGRPMSU  [CHAR (4)]

PURPOSEMSU [CHAR (3)]

PURPOSEOBJ [CHAR (3)]

MEASOBJ [CHAR (4)]

TIVBDMEAS

MANDT [CLNT (3)]

MEAS [CHAR (4)]

 RESCISMSU2OBJ_X-MEASOBJ = TIVBDMEAS-MEAS 
0..N

0..N
TIVSCPURPOSE

PURPOSE [CHAR (3)]
 RESCISMSU2OBJ_X-PURPOSEMSU = TIVSCPURPOSE-PURPOSE 

0..N

1  RESCISMSU2OBJ_X-PURPOSEOBJ = TIVSCPURPOSE-PURPOSE 0..N

1 TIVSCSCKEY

MANDT [CLNT (3)]

SNKSL [CHAR (4)]

 RESCISMSU2OBJ_X-SNKSLMSU = TIVSCSCKEY-SNKSL 

0..N

0..N

TIVSCSCKEYGRP

MANDT [CLNT (3)]

SCKEYGRP [CHAR (4)]

 RESCISMSU2OBJ_X-SCKEYGRPMSU = TIVSCSCKEYGRP-SCKEYGRP 

0..N

0..N


